

Because learning changes everything."

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Mt Diablo Unified School Dist 1936 CARLOTTA DR CONCORD, CA 94519-1397 ACCOUNT NUMBER: 160770 Susan Hartwig hartwigs@mdusd.org (925) 682-8000

CONTACT:

SALES REP INFORMATION:

Susan Hartwig hartwigs@mdusd.org (925) 682-8000 Christy Freese christy.freese@mheducation.com (707) 772-7024

	Value of All		
Section Summary	Materials	Free Materials	Product Subtotal
CA IMPACTO Grade 6 World History and Geography, Ancient Civilizations	\$83,736.98	(\$17,713.78)	\$66,023.20
CA IMPACTO Grade 7 World History and Geography, Medieval and Early Modern Times	\$80,220.98	(\$17,010.58)	\$63,210.40
CA IMPACTO Grade 8 United States History and Geography, Growth and Conflict	\$80,220.98	(\$17,010.58)	\$63,210.40
PRODUCT TOTAL*	\$244,178.94	(\$51,734.94)	\$192,444.00
ESTIMATED S&H**			\$0.00
ESTIMATED TAX**			\$15,748.19
GRAND TOTAL*			\$208,192.19

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 04/17/2023 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE: 06/01/2023

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA IMPACTO Grade 6 World History and Geograp	hy, Ancient Civ	ilization	S		
Student Resources					
IMPACTO CA G6 SP SE 8YR BNDL W/WKLY MAG WORLD HIST GEOG ANC CIV	978-0-07-686877-3	320	\$174.11	\$0.00	\$55,715.20
IMPACTO CA G6 SP SE 8YR BNDL W/WKLY MAG WORLD HIST GEOG ANC CIV	978-0-07-686877-3	80	\$174.11	\$13,928.80	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON STUDENT 8 YR SUB (CONNECT2)	978-0-07-685505-6	400	\$25.77	\$0.00	\$10,308.00
	Student Resources Subtotal:		\$13,928.80	\$66,023.20	
<u>Teacher Resources</u>					
IMPACT CALIFORNIA G6 SPANISH TEACHER ED WORLD HISTORY & GEOGRAPHY ANCIENT TIMES	978-0-07-906363-2	6	\$158.70	\$952.20	*Free Materials
IMPACT CALIFORNIA G6 ONLINE TEACHER ED 8 YR SUBSC WRLD HIST & GEOG ANCIENT TIMES	978-0-07-675593-6	6	\$419.91	\$2,519.46	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 8 YR SUB (CONNECT2)	978-0-07-691168-4	6	\$25.77	\$154.62	*Free Materials
IMPACT CALIFORNIA G6 SPANISH CHPTR TSTS&LESSON QUIZ WRLD HIST&GEOG ANCIENT TIMES	978-0-07-906361-8	6	\$26.45	\$158.70	*Free Materials
	Tea	cher Resou	rces Subtotal:	\$3,784.98	\$0.00
CA IMPACTO Grade 6 World Histor				\$17,713.78	\$66,023.20
CA IMPACTO Grade 7 World History and Geograp	hy, Medieval ar	d Early	Modern T	imes	
<u>Student Resources</u>					
IMPACTO CA G7 CMP DGTL/PRNT SPNSH SE BNDL 8 YEAR SUB WRLD HIST GEOG MED ERLY MT	978-0-07-684969-7	320	\$165.32	\$0.00	\$52,902.40
IMPACTO CA G7 CMP DGTL/PRNT SPNSH SE BNDL 8 YEAR SUB WRLD HIST GEOG MED ERLY MT	978-0-07-684969-7	80	\$165.32	\$13,225.60	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON STUDENT 8 YR SUB (CONNECT2)	978-0-07-685505-6	400	\$25.77	\$0.00	\$10,308.00
	Stu	dent Resou	rces Subtotal:	\$13,225.60	\$63,210.40
<u>Teacher Resources</u>					
IMPACT CALIFORNIA G7 SPANISH TE WRLD HIST & GEOG MEDIEVAL ERLY MODERN TIMES	978-0-07-906348-9	6	\$158.70	\$952.20	*Free Materials
IMPACT CALIFORNIA G7 ONLINE TE 8 YR SUB WRLD HIST&GEOG MEDIEVAL ERLY MODRN TIMES	978-0-07-675595-0	6	\$419.91	\$2,519.46	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 8 YR SUB (CONNECT2)	978-0-07-691168-4	6	\$25.77	\$154.62	*Free Materials
MPACT GALIFORNIA G7 SPNSHCHPTRTSTS&LESNQUIZWRLDHIST&GEOG MEDEVAL ERLY MODRNTIME	978-0-07-906362-5	6	\$26.45	\$158.70	*Free Material
	Tea	cher Resou	rces Subtotal:	\$3,784.98	\$0.00
CA IMPACTO Grade 7 World History and Geogra	phy, Medieval and Earl	y Modern T	imes Subtotal:	\$17,010.58	\$63,210.40

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 04/17/2023 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE: 06/01/2023



Product Description

GEOG GROWTH&CONFLICT

IMPACT CALIFORNIA G8 SPNSH CHPTR TSTS & LESN QUIZ US HIST &

Because learning changes everything."

Unit Price Free Materials

CA IMPACTO Grade 8 United States History and	Geography, Grov	wth and	Conflict		
Student Resources					
IMPACTO CA G8 CMP DGTL/PRNT SPNSH SE BNDL 8-YEAR SUBSCRIPTION US HISTGEOG GC	978-0-07-684992-5	320	\$165.32	\$0.00	\$52,902.40
IMPACTO CA G8 CMP DGTL/PRNT SPNSH SE BNDL 8-YEAR SUBSCRIPTION US HISTGEOG GC	978-0-07-684992-5	80	\$165.32	\$13,225.60	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON STUDENT 8 YR SUB (CONNECT2)	978-0-07-685505-6	400	\$25.77	\$0.00	\$10,308.00
	Stu	dent Resou	rces Subtotal:	\$13,225.60	\$63,210.40
<u>Teacher Resources</u>					
IMPACT CALIFORNIA G8 SPANISH TEACHER ED US HIST & GEOG GROWTH & CONFLICT	978-0-07-906346-5	6	\$158.70	\$952.20	*Free Materials
IMPACT CALIFORNIA G8 ONLINE TEACHER ED 8 YR SUB US HIST GEOG GROWTH & CONFLICT	978-0-07-675567-7	6	\$419.91	\$2,519.46	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 8 YR SUB (CONNECT2)	978-0-07-691168-4	6	\$25.77	\$154.62	*Free Materials

978-0-07-906347-2

ISBN

Teacher Resources Subtotal:

\$26.45

Qty

\$158.70 **\$3,784.98**

\$0.00

CA IMPACTO Grade 8 United States History and Geography, Growth and Conflict Subtotal:

\$17,010.58

\$63,210.40

*Free Materials

Line Subtotal

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 04/17/2023 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE: 06/01/2023



Comments:

Because learning changes everything."

QUOTE PREPARED FOR:

Mt Diablo Unified School Dist 1936 CARLOTTA DR CONCORD, CA 94519-1397 ACCOUNT NUMBER: 160770

CONTACT:

Susan Hartwig hartwigs@mdusd.org (925) 682-8000

VALUE OF ALL MATERIALS	\$244,178.94
FREE MATERIALS	(\$51,734.94)
PRODUCT TOTAL*	\$192,444.00
ESTIMATED SHIPPING & HANDLING**	\$0.00
ESTIMATED TAX**	\$15,748.19
GRAND TOTAL	\$208,192.19

SUBSCRIPTION/DIGITAL CONTACT:

Susan Hartwig hartwigs@mdusd.org (925) 682-8000

* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.
Terms of Service:
By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, eac located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
Terms Of Service
Provisions required by Subscriber State law
ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites visiting www.mhecoast2coast.com).
School Purchase Order Number:
Name of School Official (Please Print) Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 04/17/2023 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE: 06/01/2023